CHAPTER 16 — AMINES

Name __________________ # ____
MULTIPLE CHOICE- Circle the correct answer.  USE YOUR BOOK. Pictures of substances, such as amphetamine, will be given on test.  However, you must know a few of them (see PPt). Some questions were deleted, as you will see in the question numbering. 

1.
Which element is the fourth most common element in organic compounds?
	a.
	N
	c.
	P

	b.
	O
	d.
	S



2.
Nitrogen's abundance among organic compounds is primarily the result of the wide distribution of which class of compounds?
	a.
	alcohols
	c.
	amines

	b.
	amides
	d.
	imides



3.
What is the basis for classifying amines as primary, secondary, or tertiary?
	a.
	the number of carbon atoms bonded directly to the nitrogen atom

	b.
	the number of carbon atoms bonded to a carbon bearing nitrogen

	c.
	the number of nitrogen atoms present

	d.
	the number of hydrogen atoms present



4.
Amphetamine, also called Benzedrine, is an example of which type of amine? (See Book- Ch 16)
	a.
	primary aliphatic
	c.
	secondary aliphatic

	b.
	primary aromatic
	d.
	secondary aromatic



5.
(S)-Methamphetamine, also called Methedrine, is an example of which type of amine? (Book)
	a.
	primary aliphatic
	c.
	secondary aliphatic

	b.
	primary aromatic
	d.
	secondary aromatic



6.
Phentermine, also called Fastin, is an example of which type of amine? (Book)
	a.
	primary aliphatic
	c.
	tertiary aliphatic

	b.
	primary aromatic
	d.
	tertiary aromatic



7.
Which of the following is a not a primary amine?
	a.
	Benzedrine
	c.
	Methedrine

	b.
	Fastin
	d.
	None, they are all primary amines.



8.
Which of the following is not a chiral molecule?
	a.
	Amphetamine
	c.
	Methedrine

	b.
	Phentermine
	d.
	None of these, they are all chiral.



9.
Which of the following is the simplest aromatic amine?
	a.
	anilamine
	c.
	anisole

	b.
	aniline
	d.
	benzylamine



10.
Which of the following is a heterocyclic amine?
	a.
	aniline
	c.
	piperidine

	b.
	benzylamine
	d.
	none of these



11.
Which of the following is not a heterocyclic aliphatic amine?
	a.
	piperidine

	b.
	pyrrolidine

	c.
	pyrimidine

	d.
	They are all heterocyclic aliphatic amines.



12.
Which of the following is not a heterocyclic aromatic amine?
	a.
	piperidine
	c.
	pyrimidine

	b.
	purine
	d.
	pyridine



13.
Which of the following compounds are primary aliphatic amines?
[image: image1.png]CHaCHNH,
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	a.
	(i) and (ii) only
	c.
	(ii) and (iii) only

	b.
	(i) and (iii) only
	d.
	(i) only



14.
Which of the following amines serve as a building block for the amine bases of DNA and RNA?
	a.
	purine
	c.
	both a and b

	b.
	pyridine
	d.
	neither a nor



15.
Which of the following amines serve as a building block for the amine bases of DNA and RNA?
	a.
	purine
	c.
	both a and b

	b.
	pyrimidine
	d.
	neither a nor b



16.
Which of the following compounds is a heterocyclic aliphatic amine?
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	a.
	(i) only
	c.
	(iii) only

	b.
	(ii) only
	d.
	(ii) and (iii) only



19.
What is the IUPAC name of the following compound?
 [image: image3.png]HzN—Q—CHB




	a.
	1,2-dimethylaniline
	c.
	3,4-dimethylaniline

	b.
	1,2-dimethyl-4-aminobenzene
	d.
	3,4-dimethylcyclohexanamine



20.
What is the IUPAC name of the following compound?
[image: image4.png]H2N—©—CH3




	a.
	1-amino-4-methylbenzene
	c.
	4-methylaniline

	b.
	4-aminotoluene
	d.
	p-toluidine



21.
What is the IUPAC name of the following compound?
 [image: image5.png]O/N\cuzcus




	a.
	N-ethylcyclohexanamine
	c.
	N-ethylaniline

	b.
	N-cyclohexylethanamine
	d.
	N-cyclohexylethylamine



22.
What is the IUPAC name of the following compound?
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	a.
	1-ethylaminobenzene
	c.
	N-ethylcyclohexanamine

	b.
	N-ethylaniline
	d.
	N-ethyltoluidine



23.
Which of the following compounds is (S)-N-methyl-2-butanamine?
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	a.
	(i) only
	c.
	(iii) only

	b.
	(ii) only
	d.
	(i) and (ii) only



26.
What is the IUPAC name of the following compound?
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	a.
	5-aminopentylamine
	c.
	1,5-diaminopentane

	b.
	1,5-pentanediamine
	d.
	5-amino-1-pentanamine



27.
What is the IUPAC name of isopropylamine?
	a.
	propanamine
	c.
	2-propanamine

	b.
	1-propanamine
	d.
	2-propylamine



28.
What is the IUPAC name of isobutylamine?
	a.
	1-methyl-1-propanamine
	c.
	N-methyl-1-propanamine

	b.
	2-methyl-1-propanamine
	d.
	2,2-dimethylethanamine



29.
What is the IUPAC name of sec-butylamine?
	a.
	1-butanamine
	c.
	N-methyl-2-propanamine

	b.
	2-butanamine
	d.
	2-methyl-2-propanamine



30.
What is the IUPAC name of tert-butylamine?
	a.
	1-methyl-2-propanamine
	c.
	1,1-dimethylethanamine

	b.
	2-methyl-2-propanamine
	d.
	2,2-dimethylethanamine



31.
What is the common name of CH3NHC2H5?
	a.
	ethylmethylamine
	c.
	N-methylethanamine

	b.
	methylethylamine
	d.
	propanamine



32.
What is the IUPAC name of CH3NHC2H5?
	a.
	ethylmethylamine
	c.
	N-methylethanamine

	b.
	methylethylamine
	d.
	propanamine



33.
What is the common name of the following compound?
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	a.
	methylisopropylamine
	c.
	N-methyl-2-propanamine

	b.
	isopropylmethylamine
	d.
	none of these



35.
What is the common name of (CH3)2NC2H5?
	a.
	ethyldimethylamine
	c.
	N,N-dimethylethanamine

	b.
	dimethylethylamine
	d.
	none of these


ANS:
A
PTS:
1
TOP:
16.2 - HOW DO WE NAME AMINES?

37.
What is the common name of the following compound? 
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	a.
	ethylmethylpropylamine
	c.
	N-ethyl-N-methyl-1-propanamine

	b.
	N-ethyl-N-methylpropanamine
	d.
	N-ethyl-N-methyl-2-propanamine



39.
What is the common name of the following compound?
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	a.
	ethylmethylpropylamine
	c.
	N-ethyl-N-methyl-1-propanamine

	b.
	ethylisopropylmethylamine
	d.
	N-ethyl-N-methyl-2-propanamine



45.
What is the IUPAC name of the following compound?
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	a.
	(R)-2,5-dimethylpentanamine
	c.
	(R)-5-methyl-2-hexanamine

	b.
	(S)-5-methyl-2-hexanamine
	d.
	(S)-2,5-dimethylpentanamine



46.
Which of the following is characteristic of relatively low molecular weight amines?
	a.
	They are odorless.

	b.
	They have mild, pleasant odors.

	c.
	They have strong, pleasant odors.

	d.
	They have pungent, unpleasant odors.



50.
Which of the following is true?
	a.
	The NH bond is nonpolar.

	b.
	The polarity of the NH bond is less than that of the OH bond.

	c.
	The polarity of the NH bond is the same as that of the OH bond.

	d.
	The polarity of the NH bond is greater than that of the OH bond.



52.
Which of the following is true?
	a.
	No amines form hydrogen bonds.

	b.
	The NH- - - -N hydrogen bond is stronger than the OH- - - -O hydrogen bond.

	c.
	The NH- - - -N hydrogen bond is the same strength as the OH- - - -O hydrogen bond.

	d.
	The NH- - - -N hydrogen bond is weaker than the OH- - - -O hydrogen bond.



53.
Which of the following is true of the solubility of amines?
	a.
	All amines are insoluble in water.

	b.
	All amines are soluble in water.

	c.
	Most low molecular weight amines are soluble in water.

	d.
	Amines decompose when water is added to them.



56.
Which of the following gives the correct order of boiling points?
	a.
	C2H5OH > C3H8 > C2H5NH2
	c.
	C3H8 > C2H5OH > C2H5NH2

	b.
	C2H5OH > C2H5NH2 > C3H8
	d.
	C3H8 > C2H5NH2 > C2H5OH



57.
Which of the following has the highest boiling point?
	a.
	butane
	c.
	1-propanol

	b.
	1-propanamine
	d.
	2-propanamine



58.
Which of the following has the lowest boiling point?
	a.
	butane
	c.
	1-propanol

	b.
	1-propanamine
	d.
	2-propanamine



62.
Which of the following gives the correct order of solubility in water?
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	a.
	(i) > (ii) > (iii)
	c.
	(iii) > (ii) > (i)

	b.
	(ii) > (i) > (iii)
	d.
	(iii) > (i) > (ii)



73.
Which of the following is the correct equation for the reaction of dimethylamine with hydrochloric acid?
	a.
	(CH3) 2NH + HCl(aq) [image: image14.png]


 2CH4(g) + NH2Cl(l)

	b.
	2(CH3)2NH + 2HCl(aq) [image: image15.png]


 2(CH3)2NH2(aq) + Cl2(g)

	c.
	(CH3)2NH + HCl(aq) [image: image16.png]


 (CH3)2NH2+(aq)  + Cl(aq)

	d.
	(CH3)2NH + 2HCl(aq) [image: image17.png]


 2CH3NHCl(l) + H2 (g)



80.
The following is the formula for gabapentin used in the treatment of epilepsy.  
[image: image18.png]COOH




How many stereocenters are there in this compound?
	a.
	1
	c.
	3

	b.
	2
	d.
	There are no stereocenters.
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81.
The following is the formula for gabapentin used in the treatment of epilepsy.  
[image: image19.png]COOH




What type of amine is gabapentin?
	a.
	1°

	b.
	2°

	c.
	3°



82.
How many hydrogen atoms are in cyclohexanamine?
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	a.
	5

	b.
	7

	c.
	8

	d.
	12

	e.
	13


